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Examination, June/July 2015
Opt. — Il : BANKING LAW

Instructions: 1. Answer question no. 9 and any five of the remaining

questions.

2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.

3. Answers should be written either in English or Kannada
completely.

. Explain the functions of Reserve Bank of India. Marks :

PRTEEOD ORF LRYOT %Dodarﬁeéﬁgt QTOR.

. Explain salient features of Banking Regulation Act, 1949. Marks :

LR0ERETITT DD T3, 1949 T THos wosnYR) D@0R.

. Explain precautions to be taken by a banker while lending against
goods. Marks :

UT,080 BOBMY SHo0E e v ERERNNA 0IRE 0e80D
RO SreBRY Wedor TR QRO

. What is endorsement ? Explain different kinds of endorsement.  Marks :

8o0LTTH ROTTER ? 802THE @Zﬁﬁ#d& I0R.

. “Bankers duty of secrecy is not absolute”. Explain when disclosure
of account is justified ? Marks :

2,080 TUFF, TR 33y ATTRNEREIEY . 03RE
ROTPFNPY é:méodosg{ T ONTRROT) T gdowaémﬁdogd
@omd;&g{ DWOR.

. Define holder and holder in due course. What are the privileges
of holder in due course ? Marks :

T8 &8y 0308 FOWY, GRTE V[T 0N, OIF FROTE,
08 RRUNFRR)eY ?
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Q. No. 7. Who is paying banker ? State the statutory protections available

to paying banker. Marks : 16
TORE WYOFT® OTWT CINTO 7 TR WROTOR QT0W  TOATWTG,
TENRERD, 9.

Q. No. 8. Write short note on any two of the following : Marks : 2x8=16

83 TINT CIRPYTEAR ICBS e RogF T[S WO :
a) Promissory note.

RS Te,
b) Internet Banking.

0BT RFQ LWYOF0TY.

c) State Bank of India.
ﬂwew WOT S QORIR.

Q. No. 9. Solve any two of the following : Marks : 2x10=20
83 SIS CIRPTRTCR ITB, POV

a) Ramesh couldn’t present the cheque received from his friend
due to busy schedule. Period of limitation is about to expire
on a day which happens to be a public holiday. Advice Ramesh.
Tz30e3° &?i %e&é@od TR qﬁmdeéd&d FOR QZ BTED
wR031 FOFRNOY, ATFHIT APOTER O TG &0
BOTYORTNMIRYTOYT. TR 0T Ae.

b) Krishnamurthy has given a cheque for Rs. 5,000/- in the
name of his minor son Srikanth. Can the banker honour the
same ?

%agamk%r DOLVTBTD a3 WERF WOPIZ BN YEE0ST
FROSY_ . 5,000/ z%@ail o mnie} mﬁoéd& SEFIOBIN 950
ﬁwd@ TORSRLTITIC ?

c) ABC and D are partners in the “X Firm”. They informed the
banker that ‘B and C’ will operate the firm’s current account.
Can Banker honour the cheques of the firm signed by “B and
D”?
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